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Q.1 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

He did not have few hopes when he contested the election. /No error

Ans )( 1. He did not have

o 2. fevhopes when he
/< 3. contested the election

)< 4., No error

Question ID : 239087901
Status : Answered
Chosen Option : 2

|
]
|
i

Q.2 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No Improvement.

The housing problem in Mumbai becomes more serious day by day.

Ans )( 1. No Improvement
2( 2. become
/< 3. had become

A 3 4 H
o 4,13 becoming

Question ID : 239087902
Status : Answered
Chosen Option : 4

Q.3 Choose the most appropriate word that can substitute the given group of words.

The art of creating and arranging dances

Ans X 1.Geology
o 2. Choreography
x, 3. Seismology
,?( 4. Calligraphy

Question ID : 239087920
Status : Answered
Chosen Option : 2

Q.4 Select the most appropriate antonym of the given word.



£ . otliclal

?( 2. Modern

«F 3. Past

)( 4. Present

Question ID : 239087916
Status : Answered
Chosen Option : 3

Q.5 Select the most appropriate option to fill in the blank.

I am always ____ for good books.

Ans "1 looking out
)( 2. looking down
K 3. looking after

)( 4. looking into

Question ID : 239087923
Status : Answered
Chosen Option : 1

Q.6 Select the most appropriate option to fill in the blank.
My mother is the ____ inspiration in my life.
Ans X 1. big
K’ 2. bigger
o 3. biggest

)( 4. most biggest

Question ID : 239087905
Status : Answered
Chosen Option : 3

Q.7 Select the most appropriate synonym of the given word.

Courteous
Ans 5 1, Optional

£< 2. Arrogant
o 3. Polite

)( 4. Meritorious

Question ID : 239087913
Status : Answered
Chosen Option : 2

Q.8 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No

error’.

Sterling is only twenty four but have achieved so much in his professional football career.

A . .
Ans «7 1. but have achieved so much

X 2. in his professional football career



£ o Noehor

?( 4, Sterling is only twenty four

Question ID : 239087899
Status : Answered
Chosen Option : 4

Q.9 Select the most appropriate meaning of the given idiom.

To feel at home

Ans %_q"‘A 1. To feel comfortable
)( 2. To miss one's home
2(’ 3. To feel out of place

?( 4. To be rarely at home

Question ID : 239087918
Status : Answered
Chosen Opticn : 1

Q.10 Choose the correctly spelt word.
Ans "\_?"" 1. Foreign

/< 2. Eddition
/< 3. Forrward
X 4. Enfluence

= w=h S == ¥~

Q.11 Select the most appropriate synonym of the given word. -

Infuriate
Ans )( 1. Endow

)( 2. Enhance
o 3. Enrage

2( 4. Engage

Question ID : 239087922
Status : Answered
Chosen Opticn : 1

Question ID : 239087914
Status : Answered
Chosen Option : 2

Q.12 Select the most appropriate antonym of the given word.

Familiar
Ans X 1. Usual

)‘\/ 2. Commen
x 3. Known

»qf" 4, Strange

Question ID : 239087915



Ans )( 1. as also
)( 2.s0 even

?‘( 3.and also

‘l
o 4. No Improvement

Q.13 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No Improvement.

Not only the parents but also the children were sad at leaving the house.

TS R L TR TR

Question ID : 239087903
Status : Answered
Chosen Option : 4

Ans ,'y“‘ 1. Extravagant
K’ 2. Extrawagant
K 3. Extravagent
)‘( 4, Extrevagant

Q.14 Choose the correctly spelt word.

Question ID : 239087921
Status : Answered
Chosen Option : 1

Ans x 1. have donated
£< 2.was donating
»g;r"‘ 3. will donate

#< 4. had donated

Q.15 Select the most appropriate option to fill in the blank.

| blood in the hospital tomorrow.

Question ID : 239087906
Status : Answered
Chosen Option : 3

A violent windstorm
Ans X 1 Temperate

)( 2. Drought
)( 3. Draught

1
w4 Tempest

Q.16 Choose the most appropriate word that can substitute the given group of words.

Question ID : 239087919
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the



Education makes a perscn self-reliant. An (1)__ person is well equipped to take important
decisions (2)____life. He is the master of his {(3)__ and fortune. On the other hand an
illiterate person (4)____ help and guidance at every step. He feels helpless (5)____is at the
mercy of others.

SubQuestion No : 17

Q.17 Select the most appropriate option for blank No. 1.
Ans X' 1. illiterate
,:»_«"‘ 2. educated
2(_ 3. wise
2< 4. learned
Question 1D : 239087908
Status : Answered
Chosen Option : 2
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
Education makes a person self-reliant. An (1)__ person is well equipped to take important
decisions (2)____life. He is the master of his (3)_ and fortune. On the other hand an
illiterate person (4)_ help and guidance at every step. He feels helpless (5)____is at the
mercy of others.
SubQuestion No : 18
Q.18 Select the most appropriate option for blank No. 2.
Ans

,?< 1.1t0
f-é' 2.in
)< 3. at
< 4.0on

Question ID : 239087909
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Education makes a person self-reliant. An (1)___ person is well equipped to take important
decisions (2)____life. He is the master of his (3)_ and fortune. On the other hand an
illiterate person (4)___ help and guidance at every step. He feels helpless (5)____is at the
mercy of others.

SubQuestion No : 19

Q.19 Select the most appropriate option for blank No. 3.

Ans

gl
o 1.fate

)( 2. luck

)( 3. chance

)< 4. lot

Question ID : 239087910
Status : Answered
Chosen Option : 1




Intne Tollowing passage some words nave been aeleted. Fill In the blanks with the neip or the
alternatives given. Select the most appropriate option for each blank.

Education makes a perscn self-reliant. An (1)__ person is well equipped to take important
decisions (2)____life. He is the master of his {3)____ and fortune. On the other hand an
illiterate person (4)___ help and guidance at every step. He feels helpless (5)___is at the
mercy of others.

SubQuestion No : 20
Q.20 Select the most appropriate option for blank No. 4.

Ans )‘(‘ 1. has needed
2( 2. is needing

2( 3. need

o 4 needs

Question ID : 239087911
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Education makes a perscn self-reliant. An (1)__ person is well equipped to take important
decisions (2)___life. He is the master of his (3)__ and fortune. On the other hand an
illiterate person (4)___ help and guidance at every step. He feels helpless (5)__ is at the
mercy of others.

SubQuestion No : 21
Q.21 Select the most appropriate option for blank No. 5. .
Ans 4" 1 and
2(: 2. unless

)( 3. though

Kp 4. but

Question ID : 239087912
Status : Answered
Chosen Option : 1

Q.22 Find the part of the given sentence that has an error in it. If there is no error, chcose ‘No
error’.

It is easier to preach then to follow. /Na error
Ans 5 1. to preach

2( 2. 1tis easier

« 3. then to follow

K 4. No error

Question ID : 239087900
Status : Answered
Chosen Option : 3

Q.23 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No Improvement.

The train pass over the long dark tunnel.

- Lo e



AN & Pdos ablUso
?( 3. No Improvement

o 4. passed through

Question ID : 239087904
Status : Answered
Chosen Option : 4

Q.24 Select the most appropriate meaning of the given idiom.

Go getter

Ans -q!"A 1. A real achiever
2( 2. One who does the right thing

)( 3. One who runs away

K 4, A greedy person

Question ID : 239087917
Status : Answered
Chosen Opticn : 2

A ——— =

Q.25 Select the most appropriate option to fill in the blank.

Young people from disadvantaged homes look for ___ in government jobs.

Ans X" 1. utility

,?< 2. capability
#< 3. ability

4
= 4. stability

Question ID ;: 239087924
Status : Answered
Chosen Option : 4
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Q.1 39 fEerea o1 o+ Hiforg st fiar gz 9 3 uaR S4fae @ o nar @ og ggd ug |

wHafad gl
NPRT : 0QSU :: HJLN : ?
Ans 1 IKMO
/< 2.1KNO
/< 3.1IMKO

25 4.KINO

Question ID : 2390871037
Status : Answered
Chosen Option : 1

Q.2 &t fafre ge wirar |, ‘BOTANY' & 'CQWBPB' forar SraT g1 341 e v | 'INSECT' &1 &l

R ghm?
Ans 1 pVFEV

< 2. JPUFEW



AN ©-RVWLFA B T

#5 4. KRWGFX

Question ID : 239087653
Status : Answered
Chosen Option : 1

Q.3 ot fRfne gre v o, RIP’ &1 42 forar Smar g $iv 'MOL &) ‘39’ forar sirar g1 3=t &6l s
¥ ‘GAN'’ =51 <61 =1 ghr?

Ans ' 21
/5 2.22
£< 3.23
< 4.20

Question ID : 239087656
Status : Answered
Chosen Option : 1

Q.4 s Ry et & & ww Hem w1 g sit Frefefas sjfaer | var Reg (2) & e w ot
279, 277, 273,267,
Ans 1,259
£< 2.261
#< 3.257
/< 4.263

Question ID : 239087662
Status : Answered
Chosen Option : 1

Q.5 afe A= & mdt <t Sensii ot emaw F 9 fear s & &t Fafaf@a d @ =i g gt adt
ghm?
3qur

Ans 5 1.1+9:3+5=9
£ 2.3+5-4%2=-1
o' 3.6+5x2-3=7

/5 4.3+4-1x5=2

Question ID : 239087666
Status : Answered
Chosen Option : 3

Q.6 =i R g syt ok 39 fFranul it s & g1 sy=T 7 €Y 1S SneeRrel sl O wre, g S
Mg w0 § Tl F (s st g1 aoft Premd o ok e Rutia o fas e o ssla-dy7an
Frecrd, FyuAT 1 aifhes ¥U 8 SIgERUT Fa1/ERd g1

HYU:
LadIP Q&I
I.$5Q, 28I
N.FBZ,TEI

freend:
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Question ID : 239087660
Status : Answered
Chosen Option : 4

Q.7 i e g T ok 39a st ol warm & ud | =T 7 €) € ST 6t 9 714, 9rg a
T w0 9§ 37 gt F s sl g0 woft frend of ot e Putfve % 6 e e s av@
fFred, semt @1 arfhes w9 & SrgERur Sear/aRd &1

hy-:

I. T RSl Hiai §)
II. it i 7o €1

Fread:
I. T 9T At &l

Il. T HiEai a6 8
1. =t TRt Ters g1

Ans X 1. 3 Rread 11 e Il SRR @R B
2 2. g oft Frem srgeror 78f o &1
o 3. P | qur 11 s g E)

/< 4. Faet Premd | SRR FRaT B

Question ID : 239087661
Status : Answered
Chosen Option : 3

Q.8 a’tmmaﬂ?maﬁgﬁwméﬁzll&qwﬁ:mﬁmnﬁaﬁmmﬂﬁgﬁaﬁma
Wt g & am=aa: I awl 9 B adia gia g, Aot &R 6 sl @ raed At ovr arfehes ©a
| SFER0T A &

FUT
&. gt 99 R &l
Q. adt R 99 g1

Fremf
Lot da 38 g
et SR AT €1

Ans 1 e Ry | se adr |
£< 2. gl Preemd | a7 Il SrgerRon avaT 81
/< 3.7 a Frewd | 3z 3 & Fremd 11 srgerol e §1
2< 4. e Fyeamd || S1RReT FRa |

Question ID : 239087103¢
Status : Answered
Chosen Option : 1

Q.9 == feg o faereat & @ uaifRgs & T uR S aret St 7ra A

49 86 104



4 WS 4 W - M

87907
Ans X' 1.74

/< 2.192

o’ 3,114

/< 4.84

Question ID : 239087104(
Status : Answered
Chosen Option : 3

Q.10 =7 feq Reredt d & 99 s1ar g @t gihg ot FefafEa sfeer A ns g () S«
ST

MR, NU, OX, PA, ?
Ans 1 RE

/< 2.QC
/< 3.RC

o 4.QD

Question 1D : 239087649
l . Status : Answered
| Chosen Option : 4

L S——
e - L

Q.11 wﬁmmmﬂﬁqaﬁﬁaﬁméwﬁmmﬁaéﬁmmmmmm
g Tafaa g1

9:162::13:_
Ans 51,290
/5 2.330
£< 3.390

A
o7 4.338

Question ID : 239087103¢
Status : Answered
Chosen Option : 4

Q.12 &:FRD, F, H, J, L 74T N &= FI 3R 4@ 7 U garar gy & 7€ - A @ fr mit € (58t
¢ foh & geft shw F @)1 H, N & grff ofiz ftwdt &1 J, D & géa ardi iR @1 F, N & amff oiv gt
21 D, F & ardi 31k g8d g1 -4l SR H & <] o v T4 R @St 82

Ans 1 F
K 2.7
o 3L

x' 4.N

Question ID : 239087657
Status : Answered
Chosen Option : 3

Q.13 39 fIehet o1 T &Y S R g & St avg @ 94O § ST R % Ug A 9§ HaE i g1

o wmageme amm



Question ID : 239087651
Status : Answered
Chosen Option : 1

Q.14 ©: AT C, E, G, |, K FuT M &= Y 3R 7@ ohedh Geh gaTehR 85T 3 36 - frE 33 gu & (ol
el foh 9 3l ee J 1)1 M, G & i iR =1 81 E, C o T 3R g1 81 K, M & @i ardt ok
gl
E & gRa ardf 31k @ dot gar &7

Ans X' 1.6
o 2.1
K 3K
< 4.M

- Question ID : 239087658
Status : Answered
Chosen Option : 1

| W

Q.15 F=fafla Rt 7 @ 9 sigr g #t gy, ST agt d@ev 3, 5t 9 Re Tg sisrgm A 81

GOM:JSR::?

¢< 2.LAP: OFU
£< 3.MOP: PSV

#< 4.RAT : UFY

Question ID : 239087652
Status : Answered
Chosen Option : 1

Q.16 I <z grA o1 a1 hforg forads <= e s | 34T yahR S @ o w1 g g
QreE g o AT *re SITaH | e fer g1

T &AL : SEAGRT
Ans 1 nfl g v
£< 2. WER ; R
/< 3. Taarn : sy
X 4. Pkl sgmr: gus 3

Question ID : 239087103¢
Status : Answered
Chosen Option : 3

Q.17 i3 R Rareat # @ 9 deem =t gftg st FrafalRaa siaen d ust g (2) & e o smadh

8,8, 16, 48,7
Ans 1 192



gy < 17U B T

/< 3.196
/X 4.216

Question ID : 239087663
Status : Answered
Chosen Option : 1

Q.18 39 "l e o1 au= RS St sae =t g |
72,83, 95,108, __
Ans X" 1120
o 2.122
/< 3.121
£< 4.123

Question ID : 239087103¢
Status : Answered
Chosen Option : 2

S, N~ ———— N

Q.19 gra fae@g R, T, V, X a1 Z (SR =181 6 3 37t o591  §1) §I9aR § (RaR @ gl SiTd g1 G35
=1 & Sharer won & o gerar ST @1 R 9 ugst dhael Z ugrT Sran g1 X @ uge T U STt 2l
T gUaR ot & ggrar stat g1 V § ugs fohe= g werd sna €2

Ans (1.1
/< 2.3
< 3.0

o 4.2

Question ID : 239087659
Status : Answered
Chosen Option : 4

Q.20 v v Yeat @1 wAAYEE Feww F AR FW GEw A A S 560 9o [eg () F TE W e

SRRy R ]
N e
(-0, S|

Lh
—_
I

Ans

X

.41
X2 31
w3 37
K 4 43

Question ID : 239087665
Status : Answered
Chosen Option : 3

Q.21 Fafefes o @ 9@l aaF & o e g} St =6t smaw d a=ear ghn?

5x8+7-3=14
Ans X 1.35u17

K 2.8aur5




Question ID : 239087667
Status : Answered
Chosen Option : 4

Q.22 39 frereq o T ¥ St AT T | I avE 9 Safda @ o qudt deear uged! S |
Hafdd 21

17:289:31:7
Ans 511021

/X 2.941
/5 3.1089

o 4961

Question ID : 239087664
Status : Answered
Chosen Option : 4

Q.23 wﬁamanmaﬁa’r?ﬁiﬁ&Eﬁa@ﬁmﬁﬁﬁﬂa%ﬁ@mawqﬁﬁﬂmﬁﬁﬁﬁ%%
et A e ?
Ans X 1w
K 2.8
/< 3. Tl

1

w4 d

Question ID : 239087650
Status : Answered
Chosen Option : 4

Q.24 &t fafdre e wrar &, ‘PLANTS' &} ‘QNBPUU’ forar srar &1 9t e wimar & 'KIDNEY' &1 &l
o ghn?

Ans 1. LKEPFA
#< 2. LKFPFA
/5 3. MLEQGE

#< 4. MLFQGB

Question ID : 239087654
Status : Answered
Chosen Option : 1

Q.25 frdt fafve e v A, ‘POLE’ @l *48' forar Sirar & iR ‘ROG’ @t "40" forar Sirar &)1 3t s
ATGT F 'TIP’ R 1S <7 ghm?

Ans X' 1438
ot 2.45
#< 3.35
/< 4.44
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Status : Answered
Chosen Option : 2

Commtimg o Dl et ] Aemiitgeela
Section : Mumerical Aptitude

Q1 fdft &7 F1 10 99 gfafes 8 vl o &1 X 30 el & qu &< wevd €1 12 o9 Yidfes 4 5
F 5H F @ fhas e & 9 w8

Ans 5 g, 30 fT
o2 50 &
<340 e
K4 60 T

Question ID : 239087789
Status : Answered
Chosen Option : 2

Q.2

wm@ﬁgsrﬁsgmdf cm g1 3T &% Tohder 87

Ans

XL 8%"3 cm2
A2 6v3 cm?
K3 9v3 cm?

“‘?/‘ s 4..\]""3 C m 2

Question ID : 239087794
Status : Answered
Chosen Option : 4

L= 4 K G

Q.3 vs gAA dtEg T G feaq, TEar A/ E, 7 Ue oF godid dod ([e=) & 9% I58 (Fes
FHF) 9T 7 T § FAT T F o€ TqYT A g1 T do= (o) F oymw Fr offy o g, 9 dow
(Rrei=) W Reaa & 97 # § Fraer a) oha 7

Ans

£, .

4c

NV. 2. i

: c

/< 3. L3

2¢

a2

4, —

K c

Question ID : 239087793
Status : Answered
Chosen Option : 2

Q4 e faeT 3 gu @ e (A A) F I 40 3§19 3w 4 e 9@ e S ar seaa
1:1 @ Sar &1 o fser & qu & e Rl o

A w116 e



N 2. 20 dleT ) o
K 318 oieT
<412 AT

Question ID : 239087786
Status : Answered
Chosen Option : 1

Q3 4 it fY wed oS gEur ®F O § S 32, 40, 36 Fur 48 ¥ Rewsw 32
Ans X 1..9220

X 2. 8820

'3 8640

< 49120

Question ID : 239087774
Status : Answered
Chosen Option : 3

P N VO S Y

Q6 ww dor A 1w, 50 4 awr 25 G & Thel HY e w7 Igaa 1: 2 4§ oy S F Fo uw
2225 ¥ o 3w 50 49 & fae R ¥ -

As 1 160
X2 125
X2 175
X 4. 200

Question ID : 239087784
Status : Answered
Chosen Option : 1

Q.7 15 o & U TRE & Tuig 7 AGa FF 87 1 R 3w 25 T RS g § X T e 3w
79.5 g ST €| GEY WAE & 24 T & AW 74 1 G FA ¥ 25 § OIF gAN 9od HF &

ans 182
w2 99
<3 76
< 4 89

Question ID : 239087105¢
Status : Answered
Chosen Option : 2

Q8 vw oa gl oF W HEAA 1232 cm® § AT SHA SE 24 om §) SHH I T A e 7
(7 == &fam)

Ans X1 354 cm?

« 2. 550 cm?
X 3 A20 ~ra2
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Question ID : 239087795
Status : Answered
Chosen Option : 2

Q.9 e Wivaa oy W 20% wiaey & =0 =T ¥ & J9T &7 WUR0T 0= 3250 | A =4 a7 W
FaE A F R gAE 7R W Teely o (e w9 F o) R 87

o1 3275
X 27900
« 3. 3550
X 4. 2750

Ans

Question ID : 239087787
Status : Answered
Chosen Option : 1

Q10 30f24+8%Xx3+4+2-4X5
36 +12x4+2+5x(6-4)

FT A Thdar g7

Ans K " i
135

“,f“ 2. i

) 16
)(3.3-

10

2(4.3

4

Question ID : 239087775
Status : Answered
Chosen Option : 2

Q.11 22000 #r TR F1 THgle = (FTEF T § FAeT) W =9 & s §1 9/ @e & &7 10%
qaay g, ar 30 A ¥ mie FenE fraer gem?

Ans . X'1. 32538
< 2. 32524
'3 32541
K 4 32532

Question ID : 239087788
Status : Answered
Chosen Option : 3

V2 Bo T AT fr TTT FAT 7
6,2 3,5 9, 4 8 7

Ans 1. 55
K25



<465

Question ID : 239087780
Status : Answered
Chosen Option : 1

2 27
X=0—
3916 & AT HaeT g7

>G2)5+(5+)

Ans - 13

Question 1D : 239087776
. Status : Answered
Chosen Option : 2

Q14 v g fFer R @ (Femd 9e) & 9 X # 1 B & aew o @1 Bl @, S s
Y 7 FETS § SR §, AW S H LS (el FAT T (GFS H)?

ans 1. 150
X2 90
X2 120
o'+ 180

i

Question ID : 239087792
Status : Answered
Chosen Option : 4

Q15 e awg &1 10% 3R 20% & & wiHw gel W &= Jar &1 3fg R #eg 21080 &, & i 1§57
fererer 87

Ams w1 21500
< 221600
< 321400
< 4 71300

Question ID : 239087779
Status : Answered
Chosen Option : 1

Q.16 A, B 3t C sl w1 1 srer-3idker T 38 FAn 12, 24 3R 36 & F 9@ w0 wRa 1 @ e
SHT F FT 9 A 33850 Wed w0 g1 B 7w C % Ew & uflwl § fhawr s g7

Ans e e B



£\ = X1aul ) S

« 331050

< 4 3700

Question ID : 239087790
Status : Answered
Chosen Option : 1

Q17 Rrdfr avg =7 22.5% F o T A1 TN G Aed aul WET qoa & I e 67

Ans X131 : 57

X239 : 69
540 : 49
X4 34 : 63

Question ID : 239087782
Status : Answered
Chosen Option : 3

Q.18 AT qn Ryar #r 3ffwa amg 28 9 &1 AW, RaT 997 35 g &1 i 30 20 99 §1 g & g
faraett §7

A g
K23 g%
K36 T
K45 ¥

Question ID : 239087778
Status : Answered
Chosen Option : 1

o

Q.19 A gur B & #ifle 31 & 3quid 3 : 4 § aur 3a% AfdE w07 & 39 2 0 3§ A Sedw 14000
oy FE F=T &, @ B # i feaer 2

Ans  X'1..20000
< 2314000
3. 316000
X 4. 712000

Question ID : 239087785
Status : Answered
Chosen Option : 3

Q.20 40 T T 3 F 10% fAerae §1 37 40 Arex F Bree Ty a7 Hawn =y § Bwd srEar
"eHT 5% g ST?

s XK1 50 dreT
A 210 olieT
<3 20 ET :
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Question ID : 239087105¢
Status : Answered
Chosen Option : 4

Q.21 o FX #r i 7y 600 AfAE 31 FE urEw, F 9.6 WS F 100 HeX F g 7w Far &, W
goer # FR g der iy (Hevdes #) ¥ we 44

Ans

- 5
1. —
K 24

< 2. 2

2

R
3. -
K 12
»,y"lilA i
) 12

Question ID : 239087791
Status : Answered
Chosen Option : 4

Q.22 =3 1 Fr 7180 #F &9y sEm FEG 2 F 2240 F d=v R IEG 1 WA 20% F AR A 2 WaAw
20% B! e FEG3T F AT Hedl w0 DT Teaar €2

Ans 1. 2450
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